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7. NEZ1
1) <dlE
. = ANE o4 AIE
NEES = JIEX b AEZ H 2 iy
o= ' i B l
T EETES o
Pb mg/kg 90 Olat (1) (H=87 5)
- =L
cd ma/kg 50 0laGH (1) (g%%% 1)
J— - ED.{ -—
cre ma/kg 25 0l&t (1) (gggj)gﬂ 10
=y =
Hg mg/kg 25 0|5t (1) (%%gj)g«“ 1)
T | N A=
|2 20Is (Al ma/ky 70 000 OIdt (1) (A& 250)
F — - =z=
OHE| 2L [Sb) nig/kg 560 0|3t (1) (2231 5)
24 =
H12 [As] malka 47 013t M| (mzay 3)
HI & [Ba] ma/kg 18 750 0I5t () 9
e = 228
= A[8) ma/kg 5 000 0I5t W (s o50)
- o T =B
e E [Co) ma/kg 130 0I5 ] (@ss 0
kE EEE .
2z8(cr] ma/kg 460 it MW (zzsn5)
o EAHE
22 [cu] ma/kg 7 700 013t M1 (za 50
= =
oLt W] ma/kg 15 000 0I5t (V| (zseH 20)
L s . - A
LIZ2 [Ni] ma/kg | 930 oIt (] @z )
o = EZE
225 [Se] ma/kg 460 oIt W] (2zsH 5)
- ==
AEEE[S] ma/kg 56 000 OI&t (1) (qu's_al 250)
- T 23Es
Z=4[Sn] mg/kg 180 000 Oldt (1) (B8 5)
otet [zn] ) ma/kg 46 000 OISt (1) bt
oot B (2E80H 250)
: - EETES
Dibuty Iphthalate(DBP) % = (1 (A=3tH 0.005)
— : - 222
Buty Ibenzy Iphthaiai2(BBP) % - (1 (F=3H 0.005)
: = - - 25
| Di-(2-ethylhexy! )phthalate(DEHP) % = (1) (3 0.005)
S - - 25
Dl—n--oc\yIphthalate(DNOP) % = (1) (%é@'jﬂ O.GOb"
L =3z
Di~{ iso-nony | )phthalate(DINP) % - (| (24259 0.005)
| L_;-;J:Ir—
Di isodecy Iphthalate(DIDP) % - (1) (gg;%?_r)ﬂgo.oos)
TEYO0IEH JIIAM(BH) %% 0.1 0I5t (1) =&
Z2ZE
PAHs (Naphtha lene) ma/kg - (1) ' (H=3 0.2)
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. S =
PAHs (Acenaphthy lene) | rng/kg - (1) 1 (?:*égéalgo 2)
PAHs (Acenaphthene) ma/k - 3 o
s(Acenaphthen a/kg . (FE8H 0.2)
==
PAHs(F luorene) ma/kg - (1) (%égéal 0.2)
EZ=E
PAHs (Phenanthrene) ma/kg - (1) (FE8A 0.2)
— T EEES
PAHs(Anthracene) ma/kg - (1) (A=A 0.2)
- =EHE
PAHs (F luoranthene) ma/kg - (1) (F=E8tH 0.2)
_ =
PAHS(Pyienc) ma/kg - (1) (agéfm 0.2)
e — EEE
| PAHs (Benzo(a)anthr acene) mg/kg | - (1) (A=5H 0.2)
| Patis(Chrysene) maik - (1) S
s(Chrysene |_g/.g (F=st 0.2) - A
=y =
PAHs (Benzo(b ) f luor anthene) i ma/kg - (1) (-agéfm 0.2)
| PAHs (Benzo(k ) f luor anthene) ma/kg - (1) = _E;ng
| (F=83 0.2)
| : 2=
PAHs(Benzo( ) f luor anthene) ma/kg - ) (FE8H3 0.2) :
SEDp— - = O =
PAHs(Benzo(e)pyrene) ma/kg - (1) (%4%734| 0.2)
= 225 '
PAHs(Benzo(a)pyrene) ma/kg 1.0 Oist (1 (FE8EH 0.2)
‘ T EAE
PAHs(Dibenzo(a,h)anthra)cene ma/kg - (1) (HF=8tH 0.2)
EHE
PAIs{ Indeno( 1,2,3-cd)pyrene) ma/kg - W] (= 0.2)
) EER §
PAHs(Benzo(g.h. i )perylene) mg/kq - (1) (AEst 0.2)
PAHS(S &) ma/kg 10 Olat (1) =dE
TE34(82) 242 s19s O =A(SN0! #01=4 (organic tin)S 2B 5 ng/kgE EMoI ZBHAS I RANTH0 O
8t =JIXOI AIES RECH. FIIFA2 Nethly tin(MeT), Butyl tin(BuT), Di-n-propyl tin{PProT), Dibutyl tin(DBT), Tributyl
tin(TBT), n-Octyl tin(MOT), Tetrabutyi tin(TeBT), Diphenyl tin(DPhT), Di-n-octyl tin(CCI, Triphenyl tin(TPhT)2l 10Z0ILCt.
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